B EFAl 40km Holo] A= =0l 2= WP R Vted= 1
Zh R e A 7l 2 ARte] ARl Aol 32

Ay 09
T .

@ A% 1km @ AlZ 4km ® Al 5km

@M% 10km © A< 20km

B \

720 %2 ¢ xkm/h , ¥19] £ ¢ ylm/h

1x(x+y) =40
2(y—x) =40
x =10, y =30

sox = 10(km/h)




2. xo U dEEA 2x -3 <3a A7t x <12 L o, A a 9

® 4 @ 5 ¢ @ ® 8

2x<3a+3—x< fr4-8
x<l120]|B2 3a;3 —12
3a+3=24

ca="7T




3. BEAx-4<xi2 8 WIS A4 A4E T

@ 17K @ 274 3)3 A @ 474

B

3x—4<x+2
2x <6
©x<3
Lx=1,2,3




BEA3x+7<x+11 <10 € WESt= x 9 gk & 7

® -2 @—1 @0 @ 1 ® 2

Y
ru

3x+T7<x+11<10

Ix+7<x+11 x<2
=
x+11 <10 x< -1

N
=
o %
rl-U IA
o —

~1 0t

rr

2~
e




x+a>342x

AP £ wEsks 4% x 9 A47H 570
3x-1)=2x-5

9w, 4% a o gEe] W9

D)s<a<6 @ 5<a<6 ®5<ax<6

@ 6<a<T ® 6<ax<T

1. x+a>3+2x

x<a-3

2.3(x-1)=2x-5

x> -2
-2<x<a-3TEs5H=

2<a-3<3

3% x ¢ A4} 5 Aol nz




ol 3000m oA = =ABTIA] FA
7t 7hEtl, 82 dolA 7haL, g2 540l
Z9t5l7] 108 o] AAAZ Zhch ol
™2 A0l 2 A x 2 Fol T
gol 2142 ym & T =2 et 2o

@32 @s52%F
@)5E S ® 18E %

yl\
(m)
3000F ---7---
2000f /! |
1000t E !
|
O 204060 z

B y=50x, F y=150x - 1500
50x = 150x — 1500, 100x = 1500, x = 15




2a - b 9 7k

@ 1 @)2 ® 3 @ 4 ® 5
Xy
§+Z:2 dx+3y=24 ---Q
0.1x+ 0.3y =15 x+3y=15 .--©

O-OE35H3x=9,x=3

x=32 O HUstH 3 +3y =15 y=4
La=3,b=4

S 2a-b=2




8 (a+b):(b+c):(c+ta)=2:5:7°La+b+c=42Y o,
c—a-b 9 27

D 10 @ 12 ® 14 @18 ® 20

B ~
(@a+b): (b+c):(c+ta)=2:5:7°B2 a+b =2k,
b+ c =5k, c+a=Tk (k+0)2t o}Af,

ANl AS 25 H5HH 2(a+ b +c¢) = 14k, a+ b+ c = Tk°| B2
a=2k, b=0, ¢c = 5k,

a+b+c=420182 Tk =42, k =6,

W2t a =12, b =0, c = 30

“c—a—-b=18




FHEGA 3 -4<x+671-3x< 55 BF WEols 5 FolA
o i B
D 1 @)2 ® 3 @ 4 ® 5

3x—4<x+6, x<5b
1-3x<-5,2<x<5
HEh BE SRSl Sk 2 < v < 50|02 1 He Hhk

2 olt}.




10.

10 77 Sl 9= Abnke A7 35000 0] 5 RS AL,
25000 91 A 23HATh. TR T el 4 ) B2 AL Ao] 9
T 5 QoA A 1 Aol 97kel oF B % o)A o]olg ol
Bolo} 17] Soi7k Fo10] 10% o4H] olelo] 4717}

@D 16% o)A @ 18% oA 3 20% o)A
@ 22% ol @23% ol

B
o1 35000 X 5425000 200000
A1 A 5 x 40 ~ 200
o], & 4= 9l AHhE 200 - 20 = 180 (7)) o|B2
x% 9] o]elS &l Fral sk
1000 x 180(1 + %) > 200000 x 1.1

= 1000 (¥)

SoX > 22X X

webA] 23% ol4Fe] o]ol& ook

rot

ot




11.

® ©
< =

Il |
[N ORI

x5 BYSIER y =6




12, o= I3 Zol &+ 4

A(-2, 5). B4, 1)9F x5 919] 4 07} 912
o, AC + BC 9] gto] |47} =)= A C o] HE=?

yl\
K5
l LoN\..B
20 C 4 =2

® 1o @20 @eo @@y >0

AC+BCE) 7ol A4olel® A O BB 7} x 33} whips o]
wojof g},

(AB'¢] 7127]) = 4_1—(_;’) —

y=-x+bol A (-2, 5) 5 dYstH

5=2+bb=3

y=-x+3

y=0d W, 0=-x+3 .. x=3
A yl\

1
1
!
-2 —1-0----0-\‘4 xr




K
Ry

© A1 AR @ A2 AEw  @)A3 AEw

@ A4 AREH ® A1, 3 AHEH

~&B

y:ax—gOﬂ/ﬂa<0,—§<0012§b<0

y= LxtabolX | <0, ab>00°luZ A3 ARAE AL
oy,




14.

A av—y-+5 =0 21 TAZIF A (3, 3) & AL x DA
-2 2, a® + 5% 9] 27

® 18 @ 27 3 36 @45 ® 54

B ‘

ax-5y+b=0° FH (3,3), (-2, 0) & AY=Z
3a-15+b=0 ---Q

-2a+b=0 ---©

9,02 dHsIA EH =3, b=6
na?+b2=9+436=45




15.

AW 1ol ¥l A2 6), B2, 3), C(4, 3), D, 6) & FAH o=
Faol glth. AAH4 y = ax + 19 THZ} o] Azt a
GRS ke 09] 0] HHIR T A TR

3 7
®§ 5 ® 2<a<4

@)

y—ax+12 A (0, 1)& AU A%HC AlE 7ok et
5

40,1, 82 6)SAEH a=3

201,84 3)2AS a:%




